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N=5, Centered Window
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Assignment 1: LPA with ICl rule

Implement the LPA with the ICl rule to denoise the sine signal
e Start using the centered windows, then try also the left and right ones

 Tryincrease the degree of the polynomial N and see what happens to
the bias (in the first samples of the signal) and to the variance (in the
last samples of the signal)

D. Carrera



Input Signal
|

*  noisy
- = =original ¥

L L ~'|l'.
s [T
- L :-.l'-..sl.— = ma —
. ke iy, o
ot e Ty e '
. » .-| L .-40,.- -d i ..o -
..' u" --::" L L]
- - .ﬁ-‘- I. .
» - . -
LN Ll TEE o .
L PR L :p\-__“ - " —
- [T L |.:::." arwoa

10

L] - '.‘.‘ "'5 }":.‘:-i-i . » L] »

L -..-_.g_—c"" O v,
e g . .

o .‘."-"-". — s _
i
I L

" -
--. -a "
= u
. . L L L LR
ap | " P * " a LA T - 'll‘ll i "-'.*'..
. i ] - - ae ® . . = L .-h'.l: ‘ Te . -: '.—". -t -g.".-f"' - 1', Lo
. . "ah, L T - Tl L
iy L N Lo E R L "'"‘::r".' R T T ar = : —
. B o e - el e ) -
o, . O Tl B T X " . .
. L3 - [} - ™ '_'= - . "= [
an B¥ . n ] .5_. " " "
aw - ." - T . . L} L] N -
] P R . N '
- L]
| ., | . I v | | | | | |

0.6

0.7

0.8

0.9

D. Carrera



14 -
12 -
10 -

8 — —

6 — —

noisy
= =griginal
46 o —right estimate .
I 1 left estimate
| | | |
0.6 0.7 0.8 0.9 1

D. Carrera



| .
14
12 —
noisy
B = =original |
10 == right estimate
- |eft estimate
- gggregate
8 - _
6 - —
4 - —
I I I I I I I I I
0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1

D. Carrera



Assignment 2: LPA-ICI with aggregation

Implement the LPA with the ICl rule performin aggregation of the two
estimates provided by the left and right windows.
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